
	

x	+	5	=	0



	 (i

	 (ii

x y
x	 y.	

x	+	y	=	176,

x	 y	

s	+	3t	=	5,	p	+	4q	=7,	π	u v	=	9	 	3	= .

s	+	3t	–	5	=	0,	p	+	4q	–	7	=	0,	πu	+	5v	–	9	=	0	 	 	

a,	b	 c	 a b ax
+	by	+	c	=	0	

ax	 +	 by	 +	 c	 =	 0
a,	b	 c	

(i)	2x	+	3y	=	4.37		 	 	 	 	 (ii)	



(iii)	4	=	5x	–	3y		 	 	 	 	 (iv)	2x	=	y.

i)	2x	+	3y	=	4.37	 	2x	+	3y	–	4.37	=	0	 a	=	2,	b	=	3
c	=	–	4.37

(ii)	 a	 =	 1,

c	=	–4.

(iii)	4	=	5x	–	3y	 	5x	–	3y	–	4	=	0	 a	=	5,	b	=	–
3,	c	=	–	4.	 –	5x	+	3y	+	4	=	0	 a	=
–	5,	b	=	3	 c	=	4.

(iv)	2x	=	y	 2	x	–	y	+	0	=	0	 a	=	2,	b	=	–	1
c	=	0

ax	 +	 b	 =	 0	 	

ax	+	0y	+	b	=	0

4	–	3x	=	0	 –	3x	+	0.	y	+	4	=	0	

	 	 (i)	x	=	–5			 	 	 	 (ii)	y	=	2

	 	 (iii)	2x	=	3		 	 	 	 (iv)	5y	=	2

(i)	x	=	–	5	 	1.	x	+	0.y	=	–5	 1.	x	+	0.	y	+	5	=	0	

(ii)	y	=	2	 0.	x	+	1.y	=	2	 0.	x	+	1.y	–	2	=	0	

(iii)	2x	=	3	 2x	+	0.y	–	3	=	0	

(iv)	5y	=	2	 0.	x	+	5y	–	2	=	0	

¡ x	 y	



ax	+	by	+	c	=	0	
a,	b c	

	 	 (i)	2x	+	3y	=	9.35		 (ii)	x	–	 –	10	=	0		 (iii)	–2x	+	3y	=	6

	 	 (iv)	x	=	3y		 	 (v)	2x	=	–	5y		 	 (vi)	3x	+	2	=	0

	 	 (vii)	y	–	2	=	0		 	 (viii)	5	=	2x

x
y 2x	+	3y	=	12	 x	=

3,	 y	 =	 2	 x	 =	 3,	 y	 =	 2	

2x	+	3y	=	(2	×	3)	+	(3	×	2)	=	12

x	 y	
(0,	4)

2x	+	3y 	(1,4) 	x	=	1,	y	=	4	
2x	+	3y	=	14	 (0,	4) (4,	0)

	 	 2x	+	3y	=	12	 (3,	 2)
(6,	0)

2x	+	3y	=	12	 x	
(x	 =	 2 4	 +	 3y	 =	 12	

2x	+	3y

=12	 x	 =	 –	 5	

–10	 +	 3y	 =	 12



2x	 +	 3y	 =	 12	

x	 +	 2y	 =	 6

x	=	 2,	 y	 =	 2	 x	 =	 2,	 y	 =	 2
x	+	2y	=	2	+	4	=	6.

x	 =	 0	 x	 2y	 =	 6	
y	=	3. x	=	0,	y	=	3	 x

+	2	y	=	6	 y	=	0 x	=	6
x	=	6,	y	=	0	 x	+	2y	=	6	

y	=	1	 x	+	2	=	6	
x	 =	 4	 (4,	 1)	

4

(2,	2),	(0,	3),	(6,	0) (4,	1)

x	=	0
y	 y	=	0 x	

	 (i)	4x	+	3y	=	12		 (ii)	2x	+	5y	=	0		(iii)	3y	+	4	=	0

(i)	 x	 =	 0	 	 3y	 =	 12	 y	 =	 4.	
(0,	4) y	=	0	 x	=	3

(3,	0)

(ii)	 x	 =	 0	 5y	 =	 0	 y	 =	 0. (0,	 0
y	=	0	 	 (0,	 0)

x	=	1	

y	 2x	+	5y	=	0	



iii)	3y	+	4	=	0 0	.	x	+	3y	+	4	=	0	 x	

y	=	3x	+	5	

	 (i)	

	 (ii)	

	 (iii)	

	 (i)	2x	+	y	=	7		 	 (ii)	πx	+	y	=	9		 	 (iii)	x	=	4y

x	–	2y	=	4

	 (i)	(0,	2)		 	 (ii)	(2,	0)		 	 (iii)	(4,	0)			 (iv)	 		 (v)	(1,	1)

2x	 +	 3y	 =	 k	 x	 =	 2,	 y	 =	 1 k

x	+	2y	=	6	..................	(1)

x	
y	

PÉÆÃµÀÖPÀ	1



–
–

x 0 2 4 6 ...

y 3 2 1 0 ...

–

(1)	 AB	

AB	 (a,	 b) x	 =	 a,	 y	 =	 b
(1)	



AB

ax	 +	 by	 +	 c	 =	 0	

(1,	 2)

(1,	2)
(1,	 2)

x	+	y	=	3. y	–	x	=	1,	y	=	2x.	
(1,	 2) (1,	 2)

x	+	y	=	7	

x	=	0,	y	=	7	
x	 =	 7,	 y	 =	 0

PÉÆÃµÀÖPÀ	2

x 0 7

y 7 0



y	 x

y	 =	 kx k
k	

k
y	=	kx k	

k	 =	 3
y	 =	 3x

(0,	0) (2,	6)	

3 1

0 0

y	 =	 kx	

4.	 5	

(a)	 4.	5	(i)

(i)	x	+	y	=	0	(ii)	y	=	2x	(iii)	y	=	x	(iv)	y	=	2x	+	1

(b)	 4.	5	(ii)

(i)	x	+	y	=	0	(ii)	y	=	2x	(iii)	y	=2x	+4	(iv)	y	=	x	–	4

(c)	 4.	5	(iii)

(i)	x	+	y	=	0	(ii)	y	=	2x	(iii)	y	=	2x	+	1	(iv)	y	=	2x	–	4



4.	5	(i) (–1,	–2),	(0,	0),	(1,	2)
y	=	2x. y	–

x	–

(b) ii (–2,	 0),	 (0,	 4),	 (1,	 6).
y	=	2x	+	4

ii y	=	2x	+	4.

(c iii (–1,	–6),	(0,	–4),	(1,	–2),	
(2,	0) y	=	2x	–	4

(i)	x	+	y	=	4	(ii)	x	–	y	=	2	(iii)	y	=	3x	(iv)	3	=	2x	+	y

(2,	14)	

3y	=	ax	+	7 (3,	4) a	



5. x	km y	

i)	y	=	x	(i)	y	=	x	+	2

(ii)	x	+	y	=	0	(ii)	y	=	x	–	2

(iii)	y	=	2x	(iii)	y	=	–	x	+	2

(iv)	2	+	3y	=	7x	(iv)	x	+	2y	=	6

5

(i)	2 ii)	0

\
x

y	



U.S.A.

(i)	x	–	 y	–

(ii)	 30°C

(iii)	 95°F

(iv)	 0°C 0°F

(v)	

x	–	 y	–	

n	 (2,	0),	(–	3,
0),	(4,	0) n,	0) x	–	

x	–	 y	–	 0 x
(x,	 0) x	 –	

y	=	0 y	=	0 	0.	x	+	1.	y	=	0	
y	 x	=	0

x	–2	=	0	 x	
x	=	2

x	 +	 0.y	 –	 2	 =	 0
(2,	 r r

(2,	 r)

x	–	2	=	0 4.	8
AB	



2x	+	1	=	x	–	3	 (i)
(ii)

2x	+	1	=	x	–	3	

2x	–	x	=	–3	–	1

CAzÀgÉ	x	=	–	4

(i)	 x	=	–	4	

ii)	x	=	–	4 x	+	0.	y	=	–	4 x
y	

y	
	

0.	 y	 0 x	 =	 –	 4	 x	
x	=	–	4,	y	=	0	

x	=	–	4,	y	=	2.

AB	 y	 y	

y	=	3	 0	.	x	+	1.	y	=	3	
x

y	=	3

(i)

ii)	

2x	+	9	=	0



(i)

ii)	

a,	b	 c	 a b ax
+	by	+	c	=	0	

x	=	0	 y	–	 y	=	0	 x	–	

x	=	a	 y	–

y	=	a x	–

y	=	mx	




